## CITY OF RAPID CITY CONSTRUCTION CHANGE ORDER #1 PARKS AND RECREATION BRIDGE IMPROVEMENTS PROJECT NO. PR18-2406

## October 29, 2019

## ORIGINAL CONTRACT AMOUNT: \$195,361.70 CONTRACTOR: CORR CONSTRUCTION

LINE	DESCRIPTION	UNIT	CURRENT CONTRACT QUANTITY	UNIT PRICE	EXTENDED PRICE	ADJUSTED QUANTITY	ADJUSTED PRICE	NET CHANGE
1	MOBILIZATION	LS	1.00	\$22,500.00	\$22,500.00	1.00	\$22,500.00	\$0.00
2	INCIDENTAL WORK	LS	1.00	\$7,500.00	\$7,500.00	1.00	\$7,500.00	\$0.00
3	REMOVE AC PAVEMENT	SY	236.00	\$24.00	\$5,664.00	236.00	\$5,664.00	\$0.00
4	EXCAVATION, UNCLASSIFIED	CY	122.00	\$18.00	\$2,196.00	122.00	\$2,196.00	\$0.00
5	TOPSOIL, STOCKPILE & REPLACE	CY	224.00	\$9.00	\$2,016.00	224.00	\$2,016.00	\$0.00
6	BANK AND CHANNEL PROTECTION, GABIONS	CY	48.00	\$245.00	\$11,760.00	48.00	\$11,760.00	\$0.00
7	FILTER FABRIC, NONWOVEN	SY	144.00	\$4.00	\$576.00	144.00	\$576.00	\$0.00
8	SILT FENCE	LF	410.00	\$8.00	\$3,280.00	410.00	\$3,280.00	\$0.00
9	9" WATTLES	LF	80.00	\$8.00	\$640.00	80.00	\$640.00	\$0.00
10	BASE COURSE, 3/4"	Т	42.30	\$44.00	\$1,861.20	42.30	\$1,861.20	\$0.00
11	AC, CLASS E, TYPE 2, PG64-28	Т	22.10	\$450.00	\$9,945.00	22.10	\$9,945.00	\$0.00
12	TRAFFIC CONTROL	LS	1.00	\$2,200.00	\$2,200.00	1.00	\$2,200.00	\$0.00
13	REMOVE EXISTING BRIDGES	LS	1.00	\$22,000.00	\$22,000.00	1.00	\$22,000.00	\$0.00
14	10' WIDE DECK X 30" PRESTRESSED CONCRETE DOUBLE TEE	LF	114.00	\$390.00	\$44,460.00	114.00	\$44,460.00	\$0.00
15	PEDESTRIAN STEEL RAILING	LF	237.00	\$105.00	\$24,885.00	237.00	\$24,885.00	\$0.00
16	CHAINLINK FENCE	LF	237.00	\$18.00	\$4,266.00	237.00	\$4,266.00	\$0.00
17	CLASS A45 CONCRETE	CY	19.10	\$650,00	\$12,415.00	19.10	\$12,415.00	\$0.00
18	EPOXY COATED REINFORCING STEEL	LF	4,275.00	\$2.10	\$8,977.50	4,275.00	\$8,977.50	\$0.00
19	STRUCTURE EXCAVATION	CY	60.00	\$28.00	\$1,680.00	60.00	\$1,680.00	\$0.00
20	STEEL HP PILE	LF	32.00	\$120.00	\$3,840.00	32.00	\$3,840.00	\$0.00
21	REMOVE AND REROUTE EXISTING IRRIGATION SYSTEM	LS	1.00	\$2,700.00	\$2,700.00	1.00	\$2,700.00	\$0.00
	TOTAL		\$195,361.70		\$195,361.70	\$0.00		

C.C.O. HISTORY INCREASE/(DECREASE)		PRIOR ADJUSTED CONTRACT PRICE :	\$195,361.70
CCO #1	\$0.00	NET INCREASE/(DECREASE):	\$0.00
	\$0.00	ADJUSTED CONTRACT PRICE:	\$195,361.70
	\$0.00	CHANGE TO DATE:	\$0.00

- Well Sulley	10/29/19	
CONTRACTOR: Corr Construction, PO Box 170, Hermosa, SD 57744 ( 605.255.5456)	DATE	
Melissa Potersen	10/29/19	
PROJECT MANAGER: Melissa Petersen, Landscape Designer	DATE	
Affrey Sig	10/29/19	
RARKS AND RECREATION DIRECTOR: Jeff Biegler	DATE	
MAYOR: Steve Allender	DATE	
FINANCE: Pauline Sumption	DATE	
CONTRACT TIME CHANGE + 169 days NEW CONTRACT TIME: New Deadline will be May 15, 2020		

City Staff recommends approval of Change Order #1 to Corr Construction for Parks and Recreation Bridge Improvement Project PR18-2406 to extend the deadline to May 15, 2020. No Cost Change Order.

Initial Funding	\$127,848.00	\$24,352.00		
Fund Type	Parks & Rec	overnment Buildings		
Department	8912	8915		
Line Item	4372	4372		
Fund	0505	0505		
CCO #1	\$0.00	\$0.00		
Adjusted Funding	\$127,848.00	\$24,352.00	\$152,200.00	
ecreation Bridge Improvements				

Parks and Recreation Bri Project No. PR18-2406

## CITY OF RAPID CITY CONSTRUCTION CHANGE ORDER #1 PARKS AND RECREATION BRIDGE IMPROVEMENTS PROJECT NO. PR18-2406

October 29, 2019

ORIGINAL CONTRACT AMOUNT: \$195,361.70 CONTRACTOR: CORR CONSTRUCTION

LINE	DESCRIPTION	DEACON FOR CHANGE
ITEM	DESCRIPTION	REASON FOR CHANGE
<u> </u>		No Cost change Order - New deadline will be May 15, 2020
I	1. 1	7

PREPARED BY:

DATE:

	FUNDING TYPE Parks & Rec		Government Buildings		Streets		Drainage			
	COST CENTER	8912		8915		8910		8911		
	LINE ITEM		4372		4372		4370		4371	
	FUND	0505		0505		0505		0505		
				<u></u>	-					
ITEM NO.	DESCRIPTION OF ITEM	AMOUNT	PERCENT	AMOUNT	PERCENT	AMOUNT	PERCENT	AMOUNT	PERCENT	
1	MOBILIZATION	0.00	84%	0.00	16%	0.00	0%	0.00	0%	100%
2	INCIDENTAL WORK	0.00	84%	0.00	16%	0.00	0%	0.00	0%	100%
3	REMOVE AC PAVEMENT	0.00	84%	0.00	16%	0.00	0%	0.00	0%	100%
4	EXCAVATION, UNCLASSIFIED	0.00	84%	0.00	16%	0.00	0%	0.00	0%	100%
5	TOPSOIL, STOCKPILE & REPLACE	0.00	84%	0.00	16%	0.00	0%	0.00	0%	100%
6	BANK AND CHANNEL PROTECTIO	0.00	84%	0.00	16%	0.00	0%	0.00	0%	100%
7	FILTER FABRIC, NONWOVEN	0.00	84%	0.00	16%	0.00	0%	0.00	0%	100%
8	SILT FENCE	0.00	84%	0.00	16%	0.00	0%	0.00	0%	100%
9	9" WATTLES	0.00	84%	0.00	16%	0.00	0%	0.00	0%	100%
10	BASE COURSE, 3/4"	0.00	84%	0.00	16%	0.00	0%	0.00	0%	100%
11	AC, CLASS E, TYPE 2, PG64-28	0.00	84%	0.00	16%	0.00		0.00	0%	100%
12	TRAFFIC CONTROL	0.00	84%	0.00	16%	0.00		0.00	0%	100%
13	REMOVE EXISTING BRIDGES	0.00	84%	0.00	16%	0.00		0.00	0%	100%
	TEMOVE EXISTING DIVIDOES		0+70	0.00	1070	0.00	070	0.00	070	10070
14	10' WIDE DECK X 30" PRESTRESS	0.00	84%	0.00	16%	0.00	0%	0.00	0%	100%
15	PEDESTRIAN STEEL RAILING	0.00	84%	0.00	16%	0.00	0%	0.00	0%	100%
16	CHAINLINK FENCE	0.00	84%	0.00	16%	0.00	0%	0.00	0%	100%
17	CLASS A45 CONCRETE	0.00	84%	0.00	16%	0.00	0%	0.00	0%	100%
18	EPOXY COATED REINFORCING S'	0.00	84%	0.00	16%	0.00	0%	0.00	0%	100%
19	STRUCTURE EXCAVATION	0.00	84%	0.00	16%	0.00	0%	0.00	0%	100%
20	STEEL HP PILE	0.00	84%	0.00	16%	0.00	0%	0.00	0%	100%
21	REMOVE AND REPOUTE EXISTING	0.00	84%	0.00	16%	0.00	0%	0.00	0%	100%
····		\$0.00		\$0.00		\$0.00		\$0.00	•	\$0.00